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Exencise-12(F)

211 2021 

2 
3ko 750o tomovtoes and 4kg 50 Oni 
HoW much do these vegetovbles w�ioh 
avltogethea? 

2) A house wife buys bkg 600g potortoec 
OnNOnS. 

es 

A housewite buys potatoes= bko 30 
Weight oF tonatoes 3kq 750q 

Weiqt of onions= kq B00 

5 800 
750 
S00 

050 
8. Ihese vegetobles weigh Hkg 050 s ouogethe 



Date 

Page Fxereise-12G) 
Wondpcoblems. 

Aschoal bao ueiadns dka 152q E hotebooa
Weionla5H0 Te removed zom lae 
ho homudhddes the bag weigh now2 

0 

Aschoal bao weiohs= 4k 5o 
Notebooks wecnng eze Tem0ved= 5%lo 

Ow much does the ba Weiga howa 

55 

235 

the bag weions ka 255g Vow 



Exerise-12(G 

Foz a bicthdov porcty15 ka sW 

Werze Ozdezed. Afec he povcty3koy 
850 sWeets were let, How m 
SWeets Cinkg) WeTe COsUmed &cil 

povtty 
Ehe 

Weight of the sveets ondeaed = 1 

AfLez he pathyy yeets wete lt 
2ko 650 

ow mouny sWeets were COnsU med 

5 

12 S50 

42 ko, 859 sweets were consumed dutinmthe pacty 
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